FOrReVvER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR
STANDARD FREE STANDING MODERN

FAT TMBER PERGOLA




qaT

pa1apao J|
'saseqg Joyouy
aURDLLINYH IO PUIAA 3]ED ‘pIepuelS

14"

sased poy ulennd

€T

9]0d UOISuUa1Xg JaAN0T]

1)

paJ1apo J|
sj00g

17

Spoy ureund

0]

S BIOSE,] POy urenn)

Pa343pJo §|
aseqg ue Buifia)

Sjaued 0oy

suoddng jenua)d

SI3A0D) U3aMIag-U|

Bunjoolg ussmiag-uj
yum suoddns BuoT

Bunjoolg usamiag-uj
yum suoddns 1oys

suoddns sjbuis 1oys

suoddng s16uls BuoT]

s150d

‘ON

Buimeaqg

uondiiosag

S3IX04d 40 INJLNOD

Pl 1

STANDARD FREE STANDING MODERN FAT TIMBER PERGOLA

www.ForeverRedwood.com



“uas sired ay) UO paxJeW SJaquinu 8y} 01 Ydrew 1ou op asay] “AJuo aouaJajal 1o} aJe 3]qe] sexogd JO JUsIU0D) 8yl Ul SIaquinu 1ed :81oN

Aen
1M

‘L0

r I sisimnaen oo
| D:_::_f_::_f_____::::_:::_:_::
H v

R
9 _n“ T TTT 7777, T
4 [\ sdssisiisisisisissisiini
3 ml________:____:________:____:____:________
d m Y777 7 7 77D
0] m V777 77D
d ELE_EEEEE._EEE
v v
‘'ON Buimeag

1S1ITT 3dVMALVH

P| 2

STANDARD FREE STANDING MODERN FAT TIMBER PERGOLA

www.ForeverRedwood.com



‘(s1sod a1 0] Saseq UILLIND 8y yaene o])
SMaJ2S 93 . 8/S T

‘(1oddns esjuad ay1 01 aseq uey Buljied syl yoene o)
siog ... X ..8/€

‘(suoddns [enuao ayy
01 pue suoddns Buoj ay 01 sjaued paisaAno] syl yoene o)
syog be1 e X ,.9T/5

‘(suoddns 1i0ys ayy 01 suoddns Jeauad syl yoene o)
syoq Be ,.zT X..8/¢

‘(s150d
a8y 01 51004 8y} yoene o] / ‘suoddns sy 03 pue sisod
U1 01 S8Seq poJ urelnd ayl yoene o] / ‘Burydolq usamiaq
-ul yum suoddns a1 01 SIBA02 USIMISG-UI 8Y] Ydene o)
SMal3S X090 €

‘(suoddns a|buls
ayy 01 Buyoolq usamiag-ul yum suoddns ayy yoene o)
slod 4L X ,.8/€

‘(suoddns a|buls
3y 01 Bunyoo|q usamiag-ul yim suoddns syl yoene o)
syog Be7 .9 X..8/¢

‘(18y1ebol suoddns abuis ayy yoene o)
soq be7 v X..8/€

‘(s1s0d ayy 01 suoddns afbuls ayy yoene o)
siod ..8 X ..8/€

‘(s1s0d 8y 01 saseq Joyoue 3y yoene o])
sijog Be71 e X ..8/¢

uondiiosag

P|3

STANDARD FREE STANDING MODERN FAT TIMBER PERGOLA

www.ForeverRedwood.com






NOTE: In order to know where the post needs to be placed, check the numbers on them. If the post is not marked, then place the

single Supports on the ground to locate the markings for each post position and clearly set your bearings. (“Don’t attach yet, only
place them on the ground to begin with”).

Step 1: Install the anchor base (15) with %" X 4" anchor bolts or lag bolts. Please see the “How to anchor your pergola document”
for all details. Set your post (1) in the saddle of the anchor bases (15). Drill ag %" hole in the post prior to anchoring to facilitate
the ratcheting of the hardware. After that, use a 3/8” X 3" lag bolts (A) to attach each post to the its respective anchor base (15).

3/8"" X 3 Lag Bolts

P|5
STANDARD FREE STANDING MODERN FAT TIMBER PERGOLA
www.ForeverRedwood.com



Step 2: Attach the short and the long single supports (2,3) to the posts with 3/8”" X 8" bolts (B) with washers and nuts. After
that, use 3/8 X 4”" lag bolts (C) with washers to attach the single supports together. Each part has a series of numbers that
indicate where to attach the part with the corresponding number.

3/8” X 8 Bolt

3/8"X 4" Lag bolts

Step 3: Put up the short supports with in-between blocking (4), into the post notches as shown and attach to the posts with the
single support bolts. After that, attach the short supports with in-between blocking to the short single supports, used 3/8" x 6™
lag bolts (D) with washers. Each part has a series of numbers that indicate where to attach the part with the corresponding number.

3/8""X 6" Lag Bolts

P| 6
STANDARD FREE STANDING MODERN FAT TIMBER PERGOLA
www.ForeverRedwood.com



Step 4: Attach the shorts supports with in-between blocking (4) to the short single supports (3) with 3/8"" x 7 %"~ bolts (E). Each
part has a series of numbers that indicate where to attach the part with the corresponding number.

3/8” X 7Y% Bolts

Step 5: Put up the long supports with in-between blocking (5), into the post notches as shown and attach to the posts with the
single support bolts. After that, attach the long supports with in-between blocking to the long single supports, used 3/8"" x 6" lag
bolts (D) with washers. Each part has a series of numbers that indicate where to attach the part with the corresponding number.

3/8""X 6" Lag Bolts

P|7
STANDARD FREE STANDING MODERN FAT TIMBER PERGOLA
www.ForeverRedwood.com



Step 6: Attach the long supports with in-between blocking (5) to the long single supports (2) with 3/8 x 7 %"~ bolts (E). Each
part has a series of numbers that indicate where to attach the part with the corresponding number.

3/8” X 7Y% Bolts

Step 7: Use 3" deck screws (F) to attach the in-between covers (6) to the supports with in-between blocking. Each part has a
series of numbers that indicate where to attach the part with the corresponding number.

g

L

3" Deck Screws

P| 8

STANDARD FREE STANDING MODERN FAT TIMBER PERGOLA
www.ForeverRedwood.com



Step 8: Use 3/8”" x 12" lag bolts (G) with washers to attach the central supports (7) to the short supports. Each part has a series
of numbers that indicate where to attach the part with the corresponding number.

3/8""X 12" Lag bolts

Step 9: Attach the roof panels (8) to the long supports and to the central supports with 5/16”" x 3" lag bolts (H) with washers.
Each part has a series of numbers that indicate where to attach the part with the corresponding number.

5/16” x 3" Lag Bolts

P| 9
STANDARD FREE STANDING MODERN FAT TIMBER PERGOLA
www.ForeverRedwood.com



Step 10: Use 3/8”" x 7”" bolts (1) to attach the ceiling fan base (9) to the central support. Each part has a series of numbers that
indicate where to attach the part with the corresponding number.

WA
\

\

\
\

3/8”" X 77 Bolts

Step 11: Attach the curtain bases (14) to the posts with 1 5/8”" deck screws (J). Each part has a series of numbers that indicate
where to attach the part with the corresponding number

15/8 Deck Screws

P| 10

STANDARD FREE STANDING MODERN FAT TIMBER PERGOLA
www.ForeverRedwood.com



Step 12: Attach the curtain rod fascias (10) to the post and supports with 3" deck screws (F). Each part has a series of numbers
that indicate where to attach the part with the corresponding number.

3" Deck Screws

Step 13: Place the curtain rods (11) on the curtain rod bases.

P| 11
STANDARD FREE STANDING MODERN FAT TIMBER PERGOLA
www.ForeverRedwood.com



Step 14: Finally, use 3" deck screws (F) to attach the boots (12) to the post. Each part has a series of number’s that indicate
where to attach the part with the corresponding number.

3" Deck Screws

This completes the Pergola assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question,
don't hesitate to call us (866 332 2403) or email us. We are here to support you.

P| 12
STANDARD FREE STANDING MODERN FAT TIMBER PERGOLA
www.ForeverRedwood.com



HOW TO REMOVE THE ELECTRICAL WIRING TRIM FROM THE POST:

Step 1: First remove the deck screws to remove the boots of the post.

Don’t add the lag bolt over
the trim piece initially.

~— ——

P| 13
STANDARD FREE STANDING MODERN FAT TIMBER PERGOLA
www.ForeverRedwood.com



Step 3: Remove the trim.

Note: The dimensions of the trim are standard, adjust if necessary.

P| 14
STANDARD FREE STANDING MODERN FAT TIMBER PERGOLA
www.ForeverRedwood.com



